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IMPORTANT: Use u high resistance voltmeter of 1000 ohms per volt.

Readings will vary depending upon voltage ramge of meter, being higher for
higher range instruments. This variation is most marked for second detector 32
plate voltage. od o 268 | X
| RECT.

NOTE A: The bias on the 6F6 output is —14 volts measured across the g
flexible wire wound resistor- No. 15 in the circuit «diagram. 5 R-243- 5 SPKR

NOTE B: The cathode voltage varies with the setting of the volume control, §-8v DI.N:I 8" Mﬂ;ﬁ”
from 2.5 volts for maximum volume 1o -+ 30 volts for mimimum volume.

NOTE C: Grid voliage for the 6K7 first detector is |17 volis measured
across resistor No. 1 in the cathode cirenit. Grid bias is —3 volts measured o

across resistor No. 12,

(Recerver Models 1427+ /42&'/

C/TASSIS MODEL R-142

3. Without changing the test oscillator from the frequency

2 - -mnayn_z.m-om in n:ﬂi:n_ the I. —...r-nwwo. I&.:u-n trimmer No. 5
a . 1 for MUM output. Increase the test oscillator output as a
3 nd 2 ALIGNING THE I.F. CIRCUIT minimum is reached, in order to obtain a clearly defined setting
92 < H of the trimmer. NOTE: If code interference is troublesomé on
[Tl =z © I. Connect the output meter in series with a .25 mfd. a frequency in the neighborhood of 456 KC., the wave trap
<@ W ! condenser between the plate of the 6F6 tube and ground, or should be adjusted for MINIMUM output with the test oscillator
M o W g -n%-o the voice coil, depending on the type of meter. set to the same frequency as the signal that is causing inter-
=] - _Mu . Turn the volume control to the maximum volume posi- ference.
zZ2 — ©w tion. (Note: The volume control should be kept in this position

v w = throughout the entire alignment procedure.) Ground the

w < m x o antenna lead to the chassis.

ﬁAU WN. % Wm : w.m..—..::. the range switch to the right (clockwise) to the
zZ0 A o & roadcast position.

= O |2 %) = 4. Adjust the test oscillator to exactly 456 KC. and connect 7

m 38 m m w W . its output to the control grid of the 6K7 first detector tube and \.\s\\muvn.\-
& |E W s the chassis. Localions

> z5 .rrv = MHH = =g 5. Align L F. trimmers No. |, 2, 3 and 4 for maximum
8% |o r.l._ (S output as indicated on the output meter. No inward or side-

= uwu? |2 o 5 o5 ward pressure should be applied to the alignment tool or the

“ 2 o |u & m @ MW n—wnn—ouu_n-. may -Vunm_bn back to a different setting as soon as
28 the tool is removed.

(U z —n..ﬂ._ 43 6. Repeat all I. F. trimmer adjustments since the changing

O v o (Uu m H o of each trimmer will affect the others to a certain extent.

w3 < e e )
Qw W : ;| oo
> " & g = 5

z = 3 o e -
2o 2 « 2 8 .
=5 v ox nmm § 32 25 456 KC. WAVE TRAP ADJUSTMENT R. F. ALIGNMENT
0n O  ¥ouEzuiaf n
m& < nmm.WMmem |I. Disconnect the antenna lead from ground. I. Set the test oscillator to 1400 KC. and apply the signal
— < - A . . . .

oz = S Gyp8 2. Connect the test oscillator output in series with a 400 to the receiver antenna lead through a 400 ohm carbon resistor.
HM an SXxcavda ohm carbon resistor to the receiver antenna lead, and connect 2. Tune the receiver to the signal for maximum output.
z the test oscillator ground lead to the receiver chassis. Ground 3. Adjust trimmer No. 7 (detector shunt trimmer) for
p] the chassis. maximum output.
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